Efficiency vs Dxy(PV)
= HE

o
e

efficiency vs dxy(PV)
o
o]

0.4

0.2]

Ratio

'.. i
| M

=25-20- 15 10— O JO 15 20 25
P dxy(PV) (cm)

0.

—*— DQM_mkFit_TThase

I Efficienc] — DQM_mkFit_TT_retrainOldFiles125_v2_prelimwpP

.4

ELL K
-1-0.8-0.6-0.4 .2
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

s 1 :

o L .

§ f :

Y | SRR - .. PREEE R -

> I .

> I :

Q F .

508 et e e b

2 [ .

b= r H

3} + .
0.6[-----n--- . PN .
04:— ............ [ —— J: ........... [
0.2f--e e e TaB Feeens

I i i ; i i

o+ ]

T

@

L R = e e

o =30 -20 -10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.

efficiency vs dz(PV)

Ratio

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


